>

N

—

/A = S I

L I WA VR T BT AR A Bk & BT S i S 3 VAR A 2R it
A=V INo/5 |4 1319 (6 |7 (710100 |1
¥ - THEA S RN
Pdan 0.

R—1U v 74 Bl FREALE | FHE AT R b #% | 36733 54.33317
ok B B | EARRTETARR A FBME FHASHAR | 5410 A 16 H ~3fs4E10 A 19H B | 139752’ 50. 23557
s PR SR e TR L0 52t : - w5 R R

5 b N 1 /] ) » E

P)ﬁ E % % Zl TEL . 028 (648) 3319 I{i?}igfﬁ E‘{% *’/ﬁ ,f,b £$ )\ ﬁ%— E % {EL %*ﬁ 7 %1%% j(EH j%

@ 180; |y |0 it | = | Hz T _ - A e

Lo B & o eon | B EN o0 T 270@900 0 | g Ao | A OB B | BRZ ¥ KR-100PB-2H s | AT
YN ~ F ﬁ ﬁ /-Q [IER % NUESN N . . o N = N _

o R 16.39m | | YT 0 | I 18075 | B |90 | TUYY | Y rv— TRIOV-E A T IRETE VEP

i i 7 X = =

Bm R wE ) & ” P AR R E R B | sbpEm | |

o T T R . e | =e o N ‘
= *F |t i S R B 4 | OB BR
. . . N & 3 KUY T
x % | < —o— ;-3 i A
3‘5@ & h
) = ;

(m) | (m) | (m) | (m) 5 | B EE e cm) 0 10 20 20 40 50 (m) (m) | 5 {& H
E . S P ! PLTR, SV MECO DR o =
: 119.24 0.65  0.65 \"/"glg%;ggmaf E‘% *§~/L)#“?§274/l//)#?:%7\ ik E
E o1 BYAYA i E@H—AE‘;T 115 1 1 1 —
g A KO gk R ' 3 ) I~ e
E ININAA AP = 30 3 1.50  FLPSdiaaER E
= N FALEIRA ) 1.45 B
F I 712?~)i.9mr’a‘i B O AR ]
2 . .G 2.1° — A S i 2.15 =
F HEH 150215 5678] A L9mBLE, 1435 ¢ 5~10mm 215 3 913 % 25 3
E oo DR IR A 55 =
g 9-0:0) KR i 2.96 | =% E
E 00 v e
S ‘b o) i ¢ 5~30mme> [ « I g K = 3.15 8 8 12| 28 3
: Sorar B R G = 30 28 E
E ?6969' ZHIRE 143 7R ) 345 —
g o0 2.6mE TR EA ORERA NV E
Eo4 R0 Bl 4.35miz=2 7 K80mmHEE ¢ | 415 1535 |50 . 3
E ‘G0l BRI 200mm i #%) D E 0 8 18 83.3 ERmEES 3
E SO ~ N oI 2D FI BAITR0R0 4.33 3
D199 275 190 AN G AL LS ]
= PR 515 6 8 21| 3 E
8 s s  5~30mmeD [ - TR [1 i f 0 1 g
2 0.0, 27 K80~350mm(HEE ¢ 160 545 E
g oo, ~T00mmfiE)> FA R 11 R 73 |50 E
6 SN . 615 77 |71 1364 RS E
E o an VI A 3RE IR U0 RS 6.26 = B
E B 5.3mE TV Y/ 2D EA 3
= 0] 3B DR EELRD ]
o7 oo G KU R R 7.15 12 16 22| 50 10 7
= A FLEEICBEIT Ronen 30 50 163
= 000% 8.0mLATK, EULHEA2Z 2 5 7.45 E
ER E.gs“p%-; IR 8.15 14 22 14| 50 =
E -‘6969' W 5| 25 60 — E
; 00% %ﬁ‘ 8.40 E
2 B e t 9.15 16 24 10| 50 — =
E o 110.39 460 950 CARNE IR Wk T 937 2 22 682 E
& 0.0:0 ¢ 5~30mm ) - B 1R ' E
~ 0 i | R 1005 g o o 27 E
E 0.0, §7J<z%i<?;|/ﬁ§liﬁﬁf(béb\ 10.45 30 27 B
E N . 9.9m{Z2 7 K80mmHEE ¢ . E
S L0899 110 10.90 Soigivi ) OO AT D E b IL1s 16 21 13| 50 3
k ol ' o — 4] 24 62.5 - E
F - ¢ 5~30mma> Y - 1 g 4 11.39 =
g & BRI L o THe<r o TR ' E
19 Ty [ D 99 —
E 12 e Jzé4of5o§mo>h“4)<:7(#m (210 18 22 %) %z) 68.2 - :
= -3 ¢ 60~ 100mm) DR F 17 4] 12.37 ' 3
F . 1@%ﬂ~2ﬂﬁl@%€ﬁ’6%/\ ' E
Eo A a7 580~ 100mm(HEE ¢ 160 96 =
A o ~3000D E AL (215 1726 . 1)50 N bE
E O ~ N A 3ks HE R~ E 13.36 ' =
E SO *Sj;’g%b:ﬁiﬁéﬂé R 3
S __ E%E.;thi?&ﬁﬁi%ﬂiﬂbﬂ& 14.15 19 20 11| 50 =
E o 323 65.2 - E
e 0 14.38 E
Eo S0 2129 |50 =
- P Y (2107 5 7880 N ]
o " 15.32 E
E Boly e oo ¢ 3
. 16 RS- w5 16.15 23 27 | 50 =
F 103.50 5.49 16.39 'é%*ﬁﬁ;%%ﬂ)ﬁ% MK 2 - 9 19 78.9 — J%_:
= E
— 18 E
= 19 E
= 20 E

MRS R AR T2 22T



>

N

—

/A = S I

L I WA VLT BT AR & B AL & BT HiuE B (i 526 MV I A e 255t ‘
A=V INo/5 |4 1319 16 |7 171010 |0 |2
¥ - T4 o
R—VU v 74 | B2 FREALE | FHE AT R b #% | 36°33°54.9135”
ok B B | EARRTETARR A FBME AR | SA5E10H 19 A ~ S F54E10H 25 A HORE | 139 52°51. 22197
e FR A A F R R TR 2T : _— g5 2 Tlwn % A
: T i : . g0 Jerst N KH ER
WA KA D 108 (648) 3319 e B A o A 7 BT
- 180, o [0 f5 |24 g B¢ | BRZ T2 KR-100PB-2H o EAEE TR
il = N M . S NG = e {%‘T:‘:Et
A A N T 270@90 A% /K )5 O B R wITHE +H
. T [} A A W o _ N N _
o R 16.35m | | YT 0 | A 18075 | B |90 | TUYY | Y rv— TRIOV-E A T IRETE VEP
BB B )RR L8 IRE ; P A AL R | RERD |
T "
B st | st £ BES = B4 R B BR B |
. \ . N fi BLOWER
Es | “ —o— & E A
=
N & h
5 ;
(m) | (m) | (m) | (m) 5 | E B cm) 0 0 20 50 40 &0 (m) (m) | #= & A
E ] 30 0.30 \ /P%%t+/mEt+ R 0.2m¥ CTRC0-40 =
- e Rt/ X F SR E
E = VI, B—hES U h B A O g
= 119.70 0.75  1.05 / \——& /it |58 ey 5 =
Eol And i R fA KL R -
E 119.15 0.55 1.60 28 Ee) REFEHIID 59 B 25 1.45 E
E BYAYA ¢ 3~6mm (K ' . ]
S FATATA s REE 2.15 2.10  FLANHRATERER =
B WA " i A R B 10/1¢ AL E
E 118.16 1.00  2.60 /A jy/svm—n piNiol 2.84 12.60 45| 45 0.7 s
E 0.0.9] v 3
C O - a3 = £ o« = T
o3 R ¢ 5~30mme> [ - i I L1 3.15 1535 |50 E
g P%%- 510~ 50mmap k=7 (HE § 20 75 AR E
e ;ﬁ%;o‘_ & 60~100mm)DHLFEL T4 4] 3.35 3
E N0 S0~ i (60 20 10| 50 :
£ 4 =7 80~ 100mm(HE ¢ 16 4.15 20 5 10
E ALY ~300)D Tf1 % AifE ° é) 23 65.2 — jﬁlLE
2 Ry ~ N7 2T RO 138 E
g AN <o AD FH LA T E
= 5 A FLBEIZ R E R AR EIT R o 78 5.15 24 26 | 50 =
E o-0:0) Vs 20 75 — 3
E RN 5.35 3
E 0% . E
=6 &0 6.15 14 22 14| 50 E
B A }é 28 53.6 - 3
- 000 6.43 =
E LeXie] 6.6m {4 1Y 2540 ~60mm D 7
T 23590-. k=T R OER= 7 (e ¢ 7.15 16 34 150 E
E D0 60~180mm) DAL E-C 41 % 20 75 = s
= o2 ImflIZ2~3EDE & TIRA 7.35 E
: 600 Bi-EOBRA S5 N e
- 8 O H ) %222 % . 815 1733 |50 — =
B e 7.8miCT7 R300mmAfEE ¢ (g i 8 18833 Te s g
= 0000 700mmuFi %) DEAA Y o 8.33 B
F ‘o-oo fi: . _ E
E 0.0, 24 26 | 50 =
-0 A=Y R A Y - ]
C O 9.32 -
C 00| .|
B Q) =
Fo10 - 10.15 18 20 12| 50 e
F %Ef;; [ 3] 23 65.2 A Jl20 =
E et 10.38 E
D[, 10985 8.30 10.90 ?C;IE%FE@@% WA T s 3
c S 5~30mm@ [ - i g (115 12 18 20| 50 E
E 109.50 085 11.25 ‘e .M% I 248 g/wy;;j‘iqu*ﬁ@fgy 2| 98 53.6 N E
E ¢ EeiHEND 11.43 ]
=1 § 5~30mmo> I - TR 1215 22 28 | 50 E
g 210~ 50mmo) J =7 G - 207 = 3
8 80~ 100mm IS 114 : ]
F ImIC1~2@DFEI& TR 3
=13 BILHERZS 1315 28 2 10 = g
g <Ny 7 AR IR DO L 13.31 ' E
E i AR Ay g R AN 21 2 50 3
SR s 2228 ~ E
= 14.30 3
d 2327 |5 =
e 15.15 % - N 7
E 15.35 3
SR o0l %@? 15.9mE 0 HDORARR D72 16.15 26 24 | 50 10
= 104.40 5.10 16.35 O OGS EDIbEE iR T o e 20 75 ] —
= £
— 18 ]
= 19 ]
= 20 3

MRS R AR T2 22T



